
HARDWARE

PA

FT

EX

PL

JH

HG

RG

MO

AC

HW

TK

MH

GL

H
AR

D
W

AR
E

TR



2025-01-01 

PL

JH

PA

HG

MO

RG

AC

HW

TK

MH

H
AR

D
W

AR
E

U.S. Patent No. 8,418,425 & other patents pending

TR

EX

HW

GL

FT

Grade 8 Hardware

Part # Description Weight
MT-HW-BT-HEX-HEX-GR8-0100-132 5/8-11 Hex Bolt, 1” 2.35oz (0.066kg)
MT-HW-BT-HEX-HEX-GR8-0125-132 5/8-11 Hex Bolt, 1.25” 2.65oz (0.075kg)
MT-HW-BT-HEX-HEX-GR8-0150-132 5/8-11 Hex Bolt, 1.5” 2.95oz (0.083kg)
MT-HW-BT-HEX-HEX-GR8-0175-132 5/8-11 Hex Bolt, 1.75” 3.15oz (0.089kg)
MT-HW-BT-HEX-HEX-GR8-0200-132 5/8-11 Hex Bolt, 2” 3.50oz (0.099kg)
MT-HW-BT-HEX-HEX-GR8-0250-132 5/8-11 Hex Bolt, 2.5” 4.30oz (0.121kg)
MT-HW-BT-HEX-HEX-GR8-0300-132 5/8-11 Hex Bolt, 3” 4.85oz (0.137kg)
MT-HW-BT-HEX-HEX-GR8-0350-132 5/8-11 Hex Bolt, 3.5” 5.60oz (0.158kg)
MT-HW-BT-HEX-HEX-GR8-0400-132 5/8-11 Hex Bolt, 4” 6.30oz (0.178kg)
MT-HW-BT-HEX-HEX-GR8-0450-132 5/8-11 Hex Bolt, 4.5” 6.95oz (0.197kg)
MT-HW-BT-HEX-HEX-GR8-0500-132 5/8-11 Hex Bolt, 5” 7.60oz (0.215kg)
MT-HW-BT-HEX-HEX-GR8-0550-132 5/8-11 Hex Bolt, 5.5” 8.35oz (0.236kg)
MT-HW-BT-HEX-HEX-GR8-0600-132 5/8-11 Hex Bolt, 6” 9.05oz (0.256kg)
MT-HW-BT-HEX-HEX-GR8-0650-132 5/8-11 Hex Bolt, 6.5” 9.70oz (0.274kg)
MT-HW-BT-HEX-HEX-GR8-0700-132 5/8-11 Hex Bolt, 7” 10.25oz (0.290kg)
MT-HW-BT-HEX-HEX-GR8-0750-132 5/8-11 Hex Bolt, 7.5” 10.95oz (0.310kg)
MT-HW-BT-HEX-HEX-GR8-0800-132 5/8-11 Hex Bolt, 8” 11.70oz (0.331kg)

Part # Description Weight
MT-HW-BS-0200-GR8-132 5/8-11 x 2” Hex Bolt Set (Bolt, Nut, 2x Washer) 0.35lbs (0.16kg)

MT-HW-BS-0250-GR8-132 5/8-11 x 2.5” Hex Bolt Set (Bolt, Nut, 2x Washer) 0.40lbs (0.18kg)



2025-01-01 

EX

PL

JH

PA

HG

RG

MO

AC

HW

TK

MH

H
AR

D
W

AR
E

U.S. Patent No. 8,418,425 & other patents pending

TR

HW

FT

GL

Part # Description Weight
MT-HW-BT-HEX-HEX-GR8-0100-128 1/2-13 Hex Bolt, 1” 1.30oz (0.036kg)
MT-HW-BT-HEX-HEX-GR8-0125-128 1/2-13 Hex Bolt, 1.25” 1.50oz (0.042kg)
MT-HW-BT-HEX-HEX-GR8-0150-128 1/2-13 Hex Bolt, 1.5” 1.70oz (0.048kg)
MT-HW-BT-HEX-HEX-GR8-0175-128 1/2-13 Hex Bolt, 1.75” 1.85oz (0.052kg)
MT-HW-BT-HEX-HEX-GR8-0200-128 1/2-13 Hex Bolt, 2” 2.15oz (0.060kg)
MT-HW-BT-HEX-HEX-GR8-0250-128 1/2-13 Hex Bolt, 2.5” 2.60oz (0.073kg)
MT-HW-BT-HEX-HEX-GR8-0300-128 1/2-13 Hex Bolt, 3” 3.00oz (0.085kg)
MT-HW-BT-HEX-HEX-GR8-0350-128 1/2-13 Hex Bolt, 3.5” 3.45oz (0.097kg)
MT-HW-BT-HEX-HEX-GR8-0400-128 1/2-13 Hex Bolt, 4” 3.90oz (0.110kg)
MT-HW-BT-HEX-HEX-GR8-0450-128 1/2-13 Hex Bolt, 4.5” 4.35oz (0.123kg)
MT-HW-BT-HEX-HEX-GR8-0500-128 1/2-13 Hex Bolt, 5” 4.75oz (0.134kg)
MT-HW-BT-HEX-HEX-GR8-0550-128 1/2-13 Hex Bolt, 5.5” 5.15oz (0.146kg)
MT-HW-BT-HEX-HEX-GR8-0600-128 1/2-13 Hex Bolt, 6” 5.60oz (0.158kg)
MT-HW-BT-HEX-HEX-GR8-0650-128 1/2-13 Hex Bolt, 6.5” 6.00oz (0.170kg)
MT-HW-BT-HEX-HEX-GR8-0700-128 1/2-13 Hex Bolt, 7” 6.30oz (0.178kg)
MT-HW-BT-HEX-HEX-GR8-0750-128 1/2-13 Hex Bolt, 7.5” 6.85oz (0.194kg)
MT-HW-BT-HEX-HEX-GR8-0800-128 1/2-13 Hex Bolt, 8” 7.30oz (0.206kg)

Part # Description Weight
MT-HW-WA-G-0013-0050-1300-GR8-SAE 5/8 SAE Washer 0.02lbs (0.009kg)

Part # Description Weight
MT-HW-NT-HEX-HEX-GR8-132 5/8-11 Nut 0.07lbs (0.03kg)



2025-01-01 

PL

JH

PA

HG

MO

RG

AC

HW

TK

MH

H
AR

D
W

AR
E

U.S. Patent No. 8,418,425 & other patents pending

TR

EX

HW

GL

FT

Part # Description Weight
MT-HW-BT-TPD-ALN-BLO-0100-132 1/2-13 Tapered Head Socket Screw, 1” 1.53oz (0.043kg)
MT-HW-BT-TPD-ALN-BLO-0125-132 1/2-13 Tapered Head Socket Screw, 1.25” 1.80oz (0.051kg)
MT-HW-BT-TPD-ALN-BLO-0150-132 1/2-13 Tapered Head Socket Screw, 1.5” 2.10oz (0.059kg)
MT-HW-BT-TPD-ALN-BLO-0175-132 1/2-13 Tapered Head Socket Screw, 1.75” 2.35oz (0.066kg)
MT-HW-BT-TPD-ALN-BLO-0200-132 1/2-13 Tapered Head Socket Screw, 2” 2.65oz (0.075kg)
MT-HW-BT-TPD-ALN-BLO-0250-132 1/2-13 Tapered Head Socket Screw, 2.5” 3.25oz (0.092kg)
MT-HW-BT-TPD-ALN-BLO-0300-132 1/2-13 Tapered Head Socket Screw, 1” 3.805oz (0.107kg)

MT-HW-BT-TPD-ALN-BLO-0100-128 1/2-13 Tapered Head Socket Screw, 1” 1.53oz (0.043kg)
MT-HW-BT-TPD-ALN-BLO-0125-128 1/2-13 Tapered Head Socket Screw, 1.25” 1.80oz (0.051kg)
MT-HW-BT-TPD-ALN-BLO-0150-128 1/2-13 Tapered Head Socket Screw, 1.5” 2.10oz (0.059kg)
MT-HW-BT-TPD-ALN-BLO-0175-128 1/2-13 Tapered Head Socket Screw, 1.75” 2.35oz (0.066kg)
MT-HW-BT-TPD-ALN-BLO-0200-128 1/2-13 Tapered Head Socket Screw, 2” 2.65oz (0.075kg)
MT-HW-BT-TPD-ALN-BLO-0250-128 1/2-13 Tapered Head Socket Screw, 2.5” 3.25oz (0.092kg)
MT-HW-BT-TPD-ALN-BLO-0300-128 1/2-13 Tapered Head Socket Screw, 1” 3.805oz (0.107kg)

Part # Description Weight
MT-HW-WA-G-0013-0050-0106-GR8-SAE 1/2 SAE Washer 0.35oz (0.009kg)

Part # Description Weight
MT-HW-NT-HEX-HEX-GR8-128 1/2-13 Nut 1.15oz (0.032kg)

Part # Description Weight
MT-HW-BT-SHC-CUP-BLO-075-132 5/8-11 Cup Point Set Screw, 0.75” 0.65oz (0.018kg)

MT-HW-BT-SHC-CUP-BLO-075-128 1/2-13 Cup Point Set Screw, 0.75” 0.35oz (0.009kg)



2025-01-01 

EX

PL

JH

PA

HG

RG

MO

AC

HW

TK

MH

H
AR

D
W

AR
E

U.S. Patent No. 8,418,425 & other patents pending

TR

HW

FT

GL

Part # Description Weight

MT-HW-P-CP-0448-0012-0110 Cotter Pin 3.0oz (0.085kg)

Part # Description Weight

MT-HW-AC-132-0200 5/8-11 Hex Bolt, 2” Ammo Can 4.90lbs (2.22kg)

MT-HW-AC-132-0250 5/8-11 Hex Bolt, 2.5” Ammo Can 5.3lbs (2.40kg)

Part # Description Weight

MT-HW-SH-0025-0031-0184-ZIP-OQL Oval Threaded Lock Quick Link Ring 0.075lbs (0.0340kg)

Part # Description Weight
MT-HW-P-RP-0200-0016-0109 Roll Pin 3.0oz (0.085kg)

Part # Description Weight

MT-HW-P-AS-0300-0100-0106 1” Pin (Usable length: 1”) 0.75lbs (0.34kg)



2025-01-01 

PL

JH

PA

HG

MO

RG

AC

HW

TK

MH

H
AR

D
W

AR
E

U.S. Patent No. 8,418,425 & other patents pending

TR

EX

HW

GL

FT

Part # Description Weight
MT-HW-EC-TR-03-0025-CAP 3” Aluminum Truss End Cap 0.10lbs (0.05kg)

Part # Size Weight
MT-HW-HR-M-132-0125-0200-0538 6.38” x 3.5”(161.93mm x 88.9mm) 2.40lbs (1.08kg)

Part # Size Weight
MT-HW-HR-M-132-0125-0200-0538 5.38” x 3.5” (135.53mm x 88.9mm) 1.80lbs (0.82kg)

Part # Size Weight
MT-HW-HR-M-134-0150-0200-0538 6.38” x 3.5” (161.93mm x 88.9mm) 2.50lbs (1.13kg)

Part # Description Weight
MT-HW-EC-EX-0190-RT-CAP T-Slot Pipe End Cap 0.07lbs (0.03kg)


